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Variant 1

1. Translate the following text into Ukrainian and put questions to the underlined
sentence:

Information is processed and stored in computers as electrical signals. A computer
contains thousands of electronic circuits connected by switches that can only be in one of
two possible states: on (the current is flowing through the wire) or off (the current is not
flowing through the wire). To represent these two conditions we use binary notation in
which 1 means on and zero means off. This is the only way a computer can “understand”
anything. Everything about computers is based upon this binary process. Each 1 or 0 is
called a binary digit or bit.

Is and Os are grouped into eight-digit codes that typically represent characters. Eight
bits together are called a byte. Thus, each character in a keyboard has its own arrangement
of eight bits. For example, 01000001 for the letter A, 01000010 for B and 01000011 for C.

11. Answer the following questions:

1) Where do computers store information?

2) What other devices can be used for main memory?
3) What are auxiliary storage units?

111, Give English equivalents to:
30BHIIIHA TaM'sITh, IHEHTPAJIbHUN MPOIECOPHUN MPHUCTPiH, KiaBiaTypa, THMYAacOBIi
YJapyHKH T1aM’SITi, CHCTEMHa TIaTa.

1V. Translate the sentences:

1. KnaBiaTypa siBisie cOO0O0 MaTpHUIIO KIaBiIl, 00'€THAHUX B €IUHE IIUJIC, 1 CICKTPOHHUI
OJIOK JIJIs1 IePETBOPCHHS HATHUCKAHHS KJIaBillli B IBIHKOBHM KOJI.

2. KinpkicTh QyHKITIOHAILHUX KJIaBilll y BIOCKOHAJEHIH Ki1aBiaTypi 3011bIeHo 10 12.

. BigeokapTta pa3zoM 3 MOHITOPOM YTBOPIOIOTH BiJICOCHUCTEMY.

4. Cy4acHi MOHITOPH CTBOpPEHI Ha OCHOBI eJleKkTpoHHO-TipoMeHeBoi TpyOku (CRT) abo
piako-kpucTtaniuHiit Texnonorii (LCD).

5. B LCD-moHiTOpax 30BCiM BIJICYTHE HIKIUTMBE €JICKTPOMArHiTHE BUITPOMIHIOBAHHS.
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